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Instructions Work all of the following problems in the space provided. If there is not enough room, you may
write on the back sides of the pages. Give thorough ezplanations to recez've full credit.
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3. (16 points) Find the derivative. Give the answer as a function of z.
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4. (16 points) For the function f(z) = z” Inz: ’
a. Find the critical point of the function. (f)
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b. Find the value of f"(z) at the critical point. Simplify as much as possible.
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(2 points extra credit): Is the critical point a maximum or minimum? Justify your answer. @
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9. ( 16 points) Find the indefinite integrals: —— - ———
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6. (16 points) Evaluate the limit, showing all work.
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7. (20 points) Find the definite integrals. Simplify your answer as much as possible.
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